
Cat. No.

2 000kg 120kg

11/2018 - 03/2021 

N/056

10,20kN

D (kN) = 
MAX kg MAX kg 

MAX kg MAX kg 

x

+

x 0,00981

D =

NISSAN
Qashqai (J11)
(incl. AdBlue)

55R02/02*006753*00
Klasa A50-X



0Km 1000Km

Rys. 25a Rys. 25b

Należy zagwarantować przestrzeń 
swobodną według załącznika VII, 
rysunek 25a/b Regulaminu ONZ 
55.02 przy dopuszczalnym 
ciężarze całkowitym pojazdu. 

The clearance specified in appendix 
VII, diagram 25a/b of UN Regulation 
No.55.02  must be guaranteed at 
laden weight of the vehicle. 

L’espace libre doit etre garanti 
conformement a l’annexe VII, 
illustration de la reglements 
55.02 CE pour un poids total en 
charge autorise du vehicule. 

Der Freiraum nach Anhang VII, 
Abbildung 25a/b der Vorschriften 
55.02 EG ist zu gew 25a/b 
ahrleistenbei zulassigem 
Gesamtgewichtdes Fahrzeuges. 





x1

x1

x1

x1

x1

x1

x2

x1

x1

x1

x1

x1

Ø36xØ13x3 4

Ø30xØ10,5x3 4

13

12,2 12

10,2 4

M12x70 2
M12x60 2
M12x45
M10x40 4

M12



B

Śr
ub

a M
12

x4
5-

8.8
 ;  

Bo
lt

Śr
ub

a M
12

x4
5-

8.8
 ;  

Bo
lt

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 13

,0 
; P

lai
n W

as
he

r

Pk
t. 1

Śr
ub

a M
12

x7
0-

8.8
 ;  

Bo
lt

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 13

,0 
; P

lai
n W

as
he

r

Na
krę

tka
  M

12
 ; N

ut
Po

dk
ł. s

pr
ęż

.12
,2 

; S
pr

ing
 W

as
he

r
Po

dk
ł. o

kr.
 13

,0 
; P

lai
n W

as
he

r

Pk
t. 1

Śr
ub

a M
10

x4
0-

8.8
 ;  

Bo
lt

Po
dk

ł. s
pr

ęż
.10

,2 
; S

pr
ing

 W
as

he
r

Po
dk

ł. o
kr.

  Ø
30

x Ø
10

,5x
 3 

; P
lai

n W
as

he
r

Pk
t. 3

Pk
t. 2

Śr
ub

a M
12

x4
5-

8.8
 ;  

Bo
lt

Po
dk

ł. s
pr

ęż
.12

,2 
; S

pr
ing

 W
as

he
r

Po
dk

ł. o
kr.

  Ø
36

x Ø
13

x 3
 ; P

lai
n W

as
he

r

Śr
ub

a M
12

x4
5-

8.8
 ;  

Bo
lt

Po
dk

ł. s
pr

ęż
.12

,2 
; S

pr
ing

 W
as

he
r

Po
dk

ł. o
kr.

  Ø
36

x Ø
13

x 3
 ; P

lai
n W

as
he

r

Śr
ub

a M
12

x6
0-

8.8
 ;  

Bo
lt

Po
dk

ł. s
pr

ęż
.12

,2 
; S

pr
ing

 W
as

he
r

Po
dk

ł. o
kr.

  Ø
36

x Ø
13

x 3
 ; P

lai
n W

as
he

r

Pk
t. 2

Pk
t. 3

Śr
ub

a M
10

x4
0-

8.8
 ;  

Bo
lt

Po
dk

ł. s
pr

ęż
.10

,2 
; S

pr
ing

 W
as

he
r

Po
dk

ł. o
kr.

  Ø
30

x Ø
10

,5x
 3 

; P
lai

n W
as

he
r Nr

 ka
tal

og
ow

y
Ma

rka
9

6
-1

1
1

 K
o

w
ie

sy
, 

C
h

o
jn

a
ta

 2
3

 A
te

l.
 +

4
8

 4
6

 8
3

1
 7

3
 3

1
Ni

ss
an

 Q
as

hq
ai 

(J1
1)

 (in
cl.

 A
db

lue
)

 
od

 11
/18

-0
3/2

1 



AdBlue

M12x45 x1

12,2 x1

Ø36xØ13x3 x1



M12x60 x1

12,2 x1

Ø36xØ13x3 x1

M10x40 x2

10,2 x2

Ø30xØ10,5x3 x2

M12x45 x1

12,2 x1

Ø36xØ13x3 x1

M12x60 x1

12,2 x1

Ø36xØ13x3 x1



M12x45 x6

12,2 x6

13 x6

M12 x6

M10x40 x2

10,2 x2

Ø30xØ10,5x3 x2

60
70

60
70



M12x70 x2

12,2 x2

13 x2

M12 x2

AdBlue




